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1. Compute the Fourier transform of x(f) as shown in the following figure. (20%)
x ()
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* 2. Prove the Fourier transform of *(*) = e ut), a>0 js ———— . (20%)
(n—1)! (a+ jw)

3. Evaluate the integral .E u, (1-7)cos(2r)dT | (20%)

4. For a function g(t) = x() + ax(—f), where x(t) = fe”u(t) and the Laplace transform of g(f) is

G(.S')=;is—, -1 < ®Refs} <1 .

Find the values of a and A. (20%)
5. Solve the following homogeneous differential equations with the specified conditions.

(20%)

dzy(f)+2d3;5f)+5y(¢)=0, ¥ =1, y(0)=1

dr







